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1. In an arithmetic sequence, the first term is 8 and the 78th term is 1009.  Find the common difference d. 
2. Find the sum of the arithmetic series 100 + 97 + 94 + ... + (– 1967).  
3. 

Find the general term of the geometric sequence which has: and   
4. Find the sum of the geometric series 3 + (–6) + 12 + (–24) + ... + 49152.  
5. 
Find the sum of the infinite geometric series 
6. Calculate
a) 

      			b)  	      
7. 50 000 € is invested for 20 years. The rate of interest is fixed at 2.75% per annum. Interest is compounded annually. Calculate, giving your answer to the nearest euro, the total value of the investment at the end of the 20 years. 
8. A town has a population of 4500 people. If the population of the town is growing by 3% p.a., how long will it take for the town to double in size?

______________________
Answers:
1. 13
2. – 644 115
3. 

4. 32 769
5. 3
6. a)   63    	b)  121
7. 86 021 €
8. 24 years
[image: ]

1.  (NC) Simplify
a) 

b) 

c) 


2. (NC) Simplify
a) 

b) 

c) 


3. 

(NC) If  and  find the expression in x and y for the following
a) 

b) 

c) 

d) 


4. Calculate to 3 s.f.
a) 

b) 


________________________
Answers:
1. 

a)      	b)  	c) 9 
2. 


a)   	b)  	c) 
3. a) 3x    		b) x + y   	c)   x – y    	d) 2x - 3y
4. a)  3.46   	b) 2.88

[image: ]
1. Use your calculator to find the value of the following
a) 

b) 


2. 
Expand 

3. 

Find the coefficient of  in the expansion of 
4. 
Find the constant term in the expansion of 





_______________________
Answers:
1. a)   15 		 b)  21
2. 

3. 153090
4. -20
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1.  (NC) State the domain and range of the following functions:
a) 

b) 

c) 

d) 


2. 

 (NC)  and , find
a) 
 
b) 

c) 

d) 


3. 
(NC) a) Find the inverse of 

b) Find . What do you notice?


________________________
Answers:
1. 







a) ,      	b) ,     	c) ,     	d) , 
2. 

a)  -5   			b)  x = 0 or x = -1 	c)   		d) 
3. 
a)       	b)  the answer is an identity function f(x) = x


[image: ]
1. 

The function is defined by  for  . 
a) Sketch the graph of f(x).
b)  Write down the equation of each vertical asymptote.

2. 
Solve the equation using  GDC  . 








________________________
Answers:
1. a)         b) x = 2, x = -2
2. x = 0.647

 

[image: ]
[image: ]
1. 
(NC) Given the function 
· translate it horizontally 2 units to the right
· reflect in the x-axis
· translate it vertically 3 units up
Write down the equation of the transformed graph.
2. 

(NC) If under goes a translation of write down the equation of the translated graph. What are the asymptotes of the translated graph?

3. 
(NC) Sketch the graph of . What are the asymptotes?

________________________
Answers:
1. 

2. 


   
3. 

  
[image: ]
1. 
(NC) , find 
a) coordinates of the y-intercept
b) the axis of symmetry
c) coordinates of the vertex

2. 
(NC) The graph below has an equation in the form , find a, h and k.
[image: ]
3. 

(NC) Write  in the form . What are the coordinates of the vertex?
[image: ]
4. 
(NC) The graph has an equation in the form , find a, p and q.




________________________
Answers:
1. a)   (0,-4)  	b)   x = -2    	c)  (-2,-12) 
2. a = 2, h = 2, k = -3
3. 

4. a = -1/2 p = -1 and q = 4

[image: ]
1.  Solve the following equations using quadratic formula
a) 

b) 


2. 
(NC) Solve  using factorization.

3.  (NC) Find the value for k so that equation 
a) 
 has exactly one real root.
b) 
has two real solutions.
c) 
has no real roots.






________________________
Answers:
1. a)  -2.73 or 0.732        b)  1.29 or -1.09
2. 5 or -2
3. 
a)  k = 9   		b)  k < 4   	c) 







[image: ]
1. (NC) Evaluate
a) 

b) 

c) 


2. (NC) Find the inverses of the following functions
a) 

b) 

c) 


3. 

Sketch the graphs of and in the same set of axis. What do you notice?

4. Solve to 3 s.f.
a) 

b) 

c) 




________________________
Answers:
1. a)  2  				b)  -3 				 c)  4
2. 


a)  	 b)   	c) 
3. The graph of f(x) is the reflection in the line y = x of the graph g(x). Functions are inverse functions.
4. a)  0.477  			b)  0.567 			c)  15.8  



[image: ]
1. Solve to 3 s.f.
a) 

b) 


2. (NC )Find the inverse of the following functions
a) 

b) 


3. Find the value of the given investment after the indicated years at the given rate
a) $6 000 after 3 years at 7% p.a.
b) $10 000 after 10 years at 5% p.a.

4. A person has $15 000 to invest at 5% p.a., how long does it take for his investment to exceed $22 000?

5. 
The number of bacteria present in a culture at t (hours) is given by the equation 
a) Find the number of bacteria present initially.
b) Find the number of bacteria present after 8 hours.
c) How long does it take the number of bacteria to double?

6. 
A radioactive substance is decaying so that its weight W (g) after t days is given by the equation .
a) What is the weight of the substance after 15 days?
b) How long does it take to get to 25% of its original weight?


________________________
Answers:
1. a) 1.61 		 b)  2980
2. 

a)    	b) 
3. a) $7350 		b) $16289
4. 8 years
5. a)  400 		b)  9813 	c) 1.73 hrs (1 hr 44 min)
6. a)  4.98 g 		b) 7 days
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1. Convert into radians
a) 

b) 

c) 


2. Convert into degrees
a) 

b) 

c) 2.13

3. 
Calculate the perimeter of the sector, if radius is 2.7 cm and angle is. 

4. Calculate the area of the sector if radius is 3.1 cm and angle is 3.8 rad.





_______________________
Answers:
1. 


a)   		b)    		c) 
2. 


a)    		b)  		c) 
3. 11.0 cm
4. 18.3 cm2 







[image: ]
1. (NC) Find the exact values of the following using the unit circle.
a) 

b) 

c) 


2. 


 (NC) and. Find exact value of. 

3. 

(NC) Make  the subject .


4. 


(NC) If and  find . 

5. (NC) Find the equation of the straight line which makes an angle of 60 degrees with the x-axis and cuts the y-axis at (0,-2).



_______________________
Answers:
1. 

a) -1 		 b)   	c) 
2. 

3. 

4. 

5. 

[image: ]
1. 
(NC) Factorize .

2. 

(NC) Write  in the form . 

_______________________
Answers:
1. 

2. 














[image: ]
1. (NC) State the domain, range and period of the following functions
a) 

b) 

c) 


2. 
(NC), state the
a) amplitude
b) period
c) vertical translation
d) horizontal translation

3. The model for the height of tide (in meters above mean sea level) is

  (t is number of hours after midnight) 
a) What was the height at 1 pm?
b) When was the high tide and what was was the maximum height?

4. 
The model for the height (in meters above the ground) of a light on a Ferris wheel is   (t is time in minutes)  
a) Where is the light at time t = 0 min?
b) How long does the wheel take to complete one revolution?
c) At what time was the light at its highest in the first revolution of the wheel?
_______________________
Answers:
1. 


a)       	b)       	c) 
2. 
a) 2    			b)    		c) 1 step up 		d) 4 steps to the right
3. a)  2 m above the mean   			b) 4 m above the mean
4. a)   22.0 m 		b) 3 min  	 	c) 2 ¼ min

[image: ]
1. Solve 
a) 

b) 

c) 


2. 
(NC) Solve 

3. (NC) Solve 
a) 

b) 




_______________________
Answers:
1. a) 0.983 rad, 4.12 rad      b) 90 degrees, 48.6 degrees, 131.4 degrees   c) 0.375 rad, 2.77 rad
2. 

3. 

a)   		 b) 


[image: ]

1. A triangle has sides 5 cm, 7 cm and 8 cm.  Find the size of the biggest angle in degrees.

2. Find the two values for the angle A in the triangle ABC where angle C = 35 degrees, AB = 9 cm and BC = 14 cm. 

3. Find the area of the triangle with sides AB = 10 cm, AC = 9 cm and the angle BAC = 54 degrees.

4. Three towns are positioned so that A is 41 km from B and C is 35 km from B. If the angle ABC = 46 degrees, how far apart are A and C?




_______________________
Answers:
1. 81.8 degrees
2. 63.2 or 116.8 degrees
3. 36.4 cm2
4. 30.2 km
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1. (NC)  a) What is the order of the following matrices

i) 

ii) 
b) Calculate AB and BA.

2. (NC) Solve the equations, where A, B and X are matrices.
a) 2X = A
b) AX = B
c) XA = B



_______________________
Answers:
1. 
a) i) 2x3	 ii) 3x1			b)      ,  BA is not defined
2. 


a) 			b)    			c) 			



[image: ]
1. (NC) Calculate the determinant
a) 

            	 b) 

2. 
(NC) Find the inverse of 
3. 
Find the inverse of 
4. 
(NC)    state k when A-1 exists. 

5. Solve using matrices
a) 

                      b) 
_______________________
Answers:
1. a)     -2       	  		b) 26
2. 
 
3. 

4. 

5. a) x = 8, y = 1			b) x = 1, y = -2, z = -2
[bookmark: _Toc232049158]Topic 5—Vectors
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1. (NC) A = (2,3) and B = (5,7). Find
a) 

b) 
magnitude of 

2. Calculate the distance between the points (2, 0, 3) and (1, 6, 4). 

3. 
(NC) Find the unit vector in the direction of 



_______________________
Answers:
1. 

a)                             b) 
2. 6.16
3. 

[image: ]

1. 


(NC) Consider the vectors  and . Calculate the scalar product. 

2. 

(NC) Find k so that vectors   and   are
a) parallel
b) perpendicular
3. 

Calculate the angle between the vectors  and .





_______________________
Answers:
1. -13
2. a)	9			b) -4
3. 112 degrees




[image: ]
1. 
(NC) Write down the vector equation of the line parallel to the line  and passing through the point (3,7,8).
2. 

Find the angle between the two lines with equations and 
3. 
An object is moving with constant velocity km/h along a straight line. At the time t = 0 it is at the point (-1,5). 
a) Write down the vector equation representing the position of the object.
b) Find the speed of the object.
4. 

Find the point of intersection of the following lines and 
_______________________
Answers:
1. 

2. 78.7 degrees
3. 
a)           b) 3.61 km/h
4. [bookmark: _Toc221515013][bookmark: _Toc226858128](-1,4,5)

[bookmark: _Toc232049159]Topic 6—Statistics and probability
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1. What is the difference between discrete and continuous data?

2. (NC) Using the box and whisker plot given, find
a) [image: http://education.yahoo.com/homework_help/math_help/solutionimages/mini6and7gt/9/1/1/mini6and7gt_9_1_1_8_80/f-463-1-ex-1.gif]the median
b) the lower quartile
c) the upper quartile
d) the range.



______________________
Answers:
1.  Discrete data can be counted and is usually recorded as whole numbers with a limited number of values. Continuous data can be measured.
2. a)   86		b)  72		c)  90 		d)  27    


[image: ]
1. (NC) Find the mean, median and mode of the following data
a) 2, 5, 2
b) 2, 1, 8, 1

2. (NC) Find the
i) range
ii) lower quartile 
iii) upper quartile
iv) interquartile range (IQR)      of the following 
a) 1, 3, 3, 5, 5, 4, 4, 4, 2, 2, 2, 2
b) 1, 2, 3, 3, 4, 4

3. Calculate the standard deviation and variance
a) 167, 171, 173, 176, 180
b) 
	score
	frequency

	1
	3

	2
	1

	3
	8

	4
	5


______________________
Answers:
1. a)  mean: 3, median: 2, mode: 2 	b) mean: 3, median: 1.5, mode: 2                
2. a)  i) 4  ii) 2  iii) 4  iv) 2		b)   i) 3  ii) 1  iii) 4  iv) 3   
3. a)  var: 19.4  sd: 4.41  			b) var: 1.04  sd:   1.02

[image: ]
1. Use the cumulative frequency graph to estimate the
a) median
b) upper quartile
c) lover quartile
d)  90th percentile
[image: http://www.onlinemathlearning.com/image-files/cumulative-frequency-graph_clip_image002.gif]




______________________
Answers:
1. a) 27.5		b) 31.5		c) 23.5		d) 36.5

[image: ]
[image: ]
1. (NC) List the sample space for
a) rolling a die
b) tossing two coins

2. 

(NC) P(A) = 0.5 , P(B) = 0.3 and. Find  

3. (NC) From a bag containing 5 white balls, 2 black balls, and 11 red balls, 1 ball is drawn. What is the probability that it is either black or red?






______________________
Answers:
1. a)   {1,2,3,4,5,6}	b) {HT, TH, TT, HH}
2. 0.2
3. 13/18




[image: ]
1. Two machined are operating independently. Machine A operates for 70 % of the time and machine B operated for 80 % of the time. Draw a tree diagram and 
a) Calculate the probability that both machines are working
b) Calculate the probability that only one machine is working
c) Given that only one machine is working, what is the probability that it is machine B?

2. 70 % of the people shop at market A and 60 % at market B. 50 % shop at both markets. Represent this on a Venn diagram and
a) Calculate probability that a person doesn’t shop at either market
b) 

Find  and  . 

3. A pair of dice is rolled.  What is the probability that  the sum  of the numbers rolled is
a) either 7 or 11?
b) either an even number or a multiple of 3?

4. A jar contains 3 red, 5 green, 2 blue and 6 orange marbles. A marble is chosen at random from the jar. After replacing it, a second marble is chosen. What is the probability of choosing a green and an orange marble?

5. A bag of sweets contains 10 red and 12 yellow sweets. Two sweets are taken (without replacement) what is the probability that
a) both are yellow
b) only one is yellow
c) at least one is yellow?
______________________
Answers:
1. a)  0.56	b) 0.38		c) 0.421
2. a)  0.2		b) 0.833 and  0.714
3. a) 2/9	 	b) 2/3
4. 15/128
5. a) 0.286	b) 0.519	c) 0.805

[image: ]
1. 
a)  Show that is a probability distribution function.
b)  Calculate the expected value.
2. A coin is tossed once. It a tail appears you win 3 euros and if head appears you lose 2 euros. How much would you expect to win when playing the game four times? 











______________________
Answers:
1. a) -	b) 2.11
2. 2 euros
[image: ]

1. (NC) Which ones are binomial random variables?
a) 2 % of bolts are defective. A random sample of 50 bolts is taken with replacement. The variable is the number of faulty bolts.
b) A die is tossed 60 times. The variable is the number of sixes.
c) A bag contains 3 brown and 5 white sweets. I eat 2 sweets. The variable is the number of white sweets eaten.
d) There are 30 true-false questions in the test. Student guesses all the answers. The variable is the number of correct answers.

2. 
  If . Calculate
a) 

b) 

c) 

d) the mean.

3. A student is taking a multiple-choice exam in which each question has four choices. If there are five multiple-choice questions on the exam, what is the probability that student will get
a) five questions correct?
b)  at least four questions correct?



______________________
Answers:
1. a, b and d
2. a) 0.201  	b)  0.879   	c) 0.0328 	d)  2
3. a) 0.0098	b)  0.0156


[image: ]

1.   If Z is a standard normal variable, find 
a) 

b) 

c) 


2. If Z is a standard normal variable, find k
a) 

b) 


3. X is a random variable and distributed normally with mean 50 and standard deviation 4 find
a) 

b) 

c) 


4. The height of the students are normally distributed with mean 171 cm and standard deviation 9 cm. Find the probability that a randomly selected student is
a) At least 173 cm tall
b) Between 165 cm and 175 cm

5. 85% of the students will pass the exam. Exam results are expected to be normally distributed with the mean 53 and standard deviation 9. Find the lowest score needed to pass the exam.

______________________
Answers:
1. a)  0.885   	b)  0.264  	c)  0.299
2. a)  0.806	b)  1.92
3. a)  0.999	b)  0.994	c)  0.988
4. a)  0.412	b)  0.419
5. 62
[bookmark: _Toc232049160]
Topic 7—Calculus 
[image: ]
1. 
(NC) Find the derivative of  using the first principles method (=definition of the derivative).

2. 

(NC) Find the gradient of the tangent to the curve at.
3. 
(NC) Find the equation of the tangent to the curve at the point x = 3.
4. 

(NC) Find the gradient of the normal to the curve  at.
5. 
(NC) Find the equation of the normal to the curve at the point x = 1.
6. (NC) Find the range of values of x where the function
a) 
is increasing
b) 
is decreasing.
______________________
Answers:
1. 

2. -1
3. 

4. -1
5. 

6. 


a)     		b) 
[image: ]
1. (NC) Differentiate
a) 

        b)   
2. (NC) Find the derivative (using the chain rule)
a) 

b) 

c) 

d) 

e) 

f) 

g) 


3. (NC) Find the gradient function
a) 

           b)   

4. 

(NC) Find  if 
_____________________
Answers:
1. 

a)  		b) 
2. 






a)   	b)   			c) 		              d) 		e) f) 		g) 
3. 

a)    b) 
4. 

[image: ]

1. (NC) Find the local maximum and minimum value of
a) 
 
b) 
 

2. 
(NC) A manufacturer produces toys at a cost of  cents each. Each toy is sold for 45 cents.
a) Write down the expression for the profit made in making and selling x toys.
b) Find the number of toys that should be made to maximize the profit.

3. (NC) A rectangular field is formed using 1200 m of fencing. Find the dimensions of the field if the area is a maximum.

4. A container is made by cutting out the squares from the corners of a 12 cm by 12 cm square sheet of metal and folding the remaining sheet to form the container. What size squares must be cut out in order to maximize the volume of the container? What is the volume in this case?



______________________
Answers:
1. 


a) max , min 		 b) min , no max
2. 
a)   				b) 5 toys
3. both sides are 300 m 
4. 2 cm by 2 cm, 128 cm3   
  

[image: ]
1. (NC) Integrate
a) 

b) 

c) 

d) 

e) 


2. (NC) Integrate
a) 

b) 

c) 

d) 

e) 





______________________
Answers:
1. 




a)    		b)   	c) 	d) 	e) 
2. 




a)   	b)  	c) 	 d)        e) 
 
  [image: ]

1. 
(NC) Find f(x) given that  and f(0) = 10.

2.  Evaluate
a) 

b) 


3. 
(NC) Find the area between the curve and  the x-axis .  

4. 

(NC) Find the area between the curves and .    
5. 

(NC) Find the volume of revolution generated by revolving the region between and about the x-axis. 
______________________
Answers:
1. 

2. a)  3.47  	b)  1/3
3. 

4. 

5. 



[image: ]
1. 
(NC) An object moves so that its position from the origin (in meters) is given by the function, t in seconds. Find its
a) position
b) velocity
c) acceleration when t =2 sec

2. 
(NC) Find the distance traveled by an object moving with a velocity in the first 4 seconds.



______________________
Answers:
1. a) 12 m 	b) 24 m/s 	c) 30 m/s2
2. 37.3 units
 



[image: ]
1. (NC) Find the asymptotes 
a) 

b) 


2. 
(NC) For  find the intervals where the function is 
a) concave up
b) concave down

3. Find the points of inflexion of 
a) 

b) 

c) 

______________________
Answers:
1. a) x = -3, y = 5 	b) x = 2, x = -2, y = 0
2. 

a)   	b) 
3. a)  (0,0) 		b)  (2,−38) 		c) no inflexion points
37
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Use of the discriminant A=5" —4ac

2.7 | The function: x+>a*, a>0

The inverse function x - log, x, x>0

Graphs of y=a* and y=log,

Solution of a*

using logarithms

2.8 | The exponential function x "

The logasithmic fonction x = Inx. x>0

Rational coefficients only

log,a* =x: a"* =x, x>0

Examples of applications: compound interest,
‘growth and decay.

On examination papers: questions demanding
elaborate factorization techniques will not be
set.
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Details
Content Amplifications/inclusions Exclusions
3.1 | The circle: radian measure of angles; length of | Radian measure may be expressed as multiples
an arc; area of a sector. of . or decimals.
3.2 | Definition of cosé and sing in terms of the unit | Given sing . finding possible values of The reciprocal trigonometric functions secé,
circle cosé without finding & escd and cotd
sing Lines through the origin can be expressed as
Definition of tanfas 7 y=xtané . with gradient tané
The identity cos?6+sin’6 1
3.3 | Double angle formulae: sin26 =2sinfcosd; | Double angle formulae can be established by | Compound angle formulae
c0s20=cos*—sin’ 8 simple geometrical diagrams and/or by use of a
GDC.
34 | The circular functions sinx, cosx and tanx = | On examination papers: radian measure should | The inverse trigonometric functions: arcsinx .
their domains and ranges; their periodic nature; | be assumed unless otherwise indicated by, for | arccosx and arctanx
and their graphs example. x5 sinx®
Composite functions of the form Example: f(x) =2cos(G(x—4)+1
Je)=asin®(x+0)+d
Examples of applications: height of tide, Ferris
wheel
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Topic 3—Circular functions and trigonometry (continued)

Content

Amplifications/inclusions

Exclusions

3.5 | Solution of trigonometric equations in a finite
interval

Equations of the type asin(b(x+¢)) =k

Equations leading to quadratic equations in, for
example, sinx

Graphical interpretation of the above

3.6 | Solution of triangles.

The cosine rule: ¢ =a’ +b° - 2abcosC

b c

sinB  sinC

The sine rule:
sind

Area of a triangle as %ab sinC

Examples

2sinx=3cosx, 0<x< 2w
2sin2xv=3cosx, 0° < x<180°
2sinx=cos2y, —T<x<N

Both analytical and graphical methods required.

Appreciation of Pythagoras’ theorem as a
special case of the cosine rule

‘The ambiguous case of the sine rule.

Applications to problems in real-life situations.
such as navigation.

The general solution of trigonometric equations

IFS
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Topic 4—Matrices
Aims

‘The aim of this secton s to provide an elementary inoduction to matrices, & fndamental concept of iear algebra.

Details

Content

Amplifications inclusions

Exclusions

Definiton of a matrx: the temms “element”,
“row”, “column’” and “order”

Alasbr of matice: eqaly: adiion:
bacion: mliplcaton by 5 sl
Muleplcaion of maics.

Hensty nd er0 maices.

Determinat of s sqare i
Caleltion o 22 and 3 deermints.
verse ofa 22 marix

Conditons o th eistece of theiverse of s

marix

‘Solution ofsystens of Hnear equatons wing
mverse matics (s maimm of tree eqations
i tree wlzows).

‘Use of maices o stoe data.

‘Matris operations to handle o process
informatio.

‘Elementary restment only

Obtaining the inverse of a 33 matrx using &
GDC.

Only systems with  unique solution need be
considered.

Use of mafrices o represent ransformations.

Cofactors and minors

Otter methods for Snding the inverse of  3x3
marix
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Topic 5—Vectors
Aims

‘The aim of this secton s to provide an elementary infodeson to vectors. Thisinciudes both algebreic and geometric approsches.

Details

Content Amplifications inclusions

Exclusions

Vectors a3 displacements in the plane andin | Distance befvseen points in three dimensiors.
hree dimensions.

‘Components of a vector;columm representation. | Components are with respect o the wnit vectrs
) 1., and  (standard basis)

v, | =i ek

Algebraic and geometric approaches fo the
Following topics:

the sum and difference of wo vectors: e zero
vector, the vestor —v

aliplication by asela, v
magindeofa vectr, i

it vectors; base vectors ., and ;.

posttonvectors G =a
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Topic 5—Vectors (continued)

Content

Amplifications inclusions

Exclusions

“The scalar prodict of o vectors
o w=|p{wlcose s vow =i v, + 30,

Pespendicular vectors: paralel vectors

‘The angle beteen o vectors.

Representation of aline as r

‘The angle between fio lies.

Distinguishing between coincident and parallel
lines.

Finding points where lines infersect.

The scalar prodsct i also known as the “dot
produet”or e prodict”.

‘For non-zero perpendiculas vectors -
for non-zero paralel vectors - =]

‘Lines inthe plane and n tree-dimensional
space. Examples of spplicaions: imerpreation
of 2 tie and b s velocty, with [3]

representing speed.

Awareness that zon-paralll ines may not
intersect.

Projections

Cartesan for of the eqation ofa line:

T
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Topic 6—Statistics and probability
Aims

30 hrs
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7.5 | Anti-differentiation with a boundary condition
to determine the constant term.

Definite integrals.

Areas under curves (between the curve and the
x-axis), areas between curves.

Volumes of revolution.
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7.7 | Graphical behaviour of functions: tangents and
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2.1 | Concept of function f x> £(x): domain,
range; image (value)

Composite functions f o g : identity fanction.

Tnverse function £

2.2 | The graph of a function; its equation y

S

Function graphing skills
use of a GDC to graph a variety of functions:
investigation of key features of graphs.

Solution of equations graphically.

© Internationsl Baccalaureate Organization 2006

T Topic 1 Algsbr

On examination papers: if the domain is the set
of real numbers then the statement “xe R ™ will
‘be omitted.

The composite function (f o g)(x) is defined as
flel)

On examination papers: if an inverse function is
to be found, the given function will be defined
with a domain that ensures it is one-to-one

On examination papers: questions may be set
requiring the graphing of functions that do not
explicitly appear on the syllabus

The linear function ax+b is now in the
presumed knowledge section

Identification of horizontal and vertical asymptotes,

May be referred to as roots of equations, or
zeros of functions

Formal definition of a function; the terms
““one-to-one”, “many-to-one” and “codomain’

Domain restriction.
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11 | Asithmetic sequences and series; sum of finite
arithmetic series; geometric sequences and series:
sum of finite and infinite geometric scries.

Sigma notation.

1.2 | Exponents and logarithms.

Laws of exponents; laws of logarithms.

Change of base.

1.3 | The binomial theorem: expansion of
(a+b)'. nelN

Examples of applications, compound interest
and population growth.

Elementary treatment only is required.

Examples: 167 =8:

On examination papers: students may determine
n

the binomial coefficients, [ ] by using
r

Pascal’s triangle. or by using a GDC

The formula [

of combinations.

n

r)

nl
—_ and consideration
Pin—r)!
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